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1. (A) …Û¶Û×þù ÜÅÛ. ¶Ûà …éïõ ÈÛÍ©Ûä¶ÛÛ× Š©¸ÛÛþù¶Û ¾ÛÛ¤éø¶Ûä× ¸Ûó¾ÛÛ¨Û Ü¾ÛËÛ¨Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 10 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ¸Ûó¾ÛÛ¨Û Ü¾ÛËÛ¨Û ÜïõÅÛÛé ¸Ûó¾ÛÛ¨Û ÜïõÅÛÛéþùà¥ø Ýïõ¾Û©Û `̀̀̀ 

“Û 100 5 

ýÛ 40 4 

ßÛ 60 10 

    ¼Û•ÛÛ¦ø¶Ûä× ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó¾ÛÛ¨Û þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾Û¶ÛÛ 10% ›÷é¤øÅÛä× ™öé. ©Ûé¶Ûà ïõÛé̂  ½Û×•ÛÛÁõ Ýïõ¾Û©Û 
Š¸Û›÷©Ûà ¶Û¬Ûà. 

    ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 14,400 ÜïõÅÛÛé¶Ûä× ¬ÛýÛä×. ”ÛÁéõ”ÛÁõ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ÈÛ¸ÛÁõÛÉÛ …¶Ûé ¸Û¦ø©ÛÁõ ¶Ûà˜Ûé 
¾Ûä›÷¼Û Ðü©Ûà : 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”ÛÁéõ”ÛÁõ Ü¾ÛËÛ¨Û ÜïõÅÛÛé ”ÛÁéõ”ÛÁõ ÜïõÅÛÛéþùà¥ø Ýïõ¾Û©Û `̀̀̀ 

“Û 8,320 5 – 50 

ýÛ 3,360 3 – 75 

ßÛ 5,120 9 – 50 

  ¶Ûà˜Ûé ¾Ûä›÷¼Û¶ÛÛ× ÜÈÛ˜ÛÅÛ¶ÛÛé ÉÛÛéµÛÈÛÛ¶ÛÛ× ™öé : 
  (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
   (2) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ½ÛÛÈÛ ÜÈÛ˜ÛÅÛ¶Û 
  (3) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û 
  (4) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 
  (5) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Š¸Û›÷ ÜÈÛ˜ÛÅÛ¶Û 
  A standard mix of a product of ‘The Anand Ltd.’, is as follows : 

Material Standard Mix 

Kg. 

Standard Price 

per Kg. 

X 100 5 

Y 40 4 

Z 60 10 

  The standard loss is estimated at 10% of units introduced. There is no scrap value. 

Actual output of product was 14,400 kgs.  

  Actual consumption and cost of goods were as follows : 

Material Actual Mix 

Kg. 

Actual Price 

per Kg. 

X 8,320 5 – 50 

Y 3,360 3 – 75 

Z 5,120 9 – 50 
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  Find out the following variances : 

  (1) Material cost variance  

  (2) Material price variance  

  (3) Material usage variance  

  (4) Material mix variance  

  (5) Material yield variance  

 (B) ¾Û›æ÷Áõà …×•Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  4 

  Explain in short “Labour Variance”. 

…¬ÛÈÛÛ/OR 

1. (A) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¾ÛÛ× P ÈÛÍ©Ûä¶ÛÛ× …éïõ …éïõ¾Û¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ÁõÛéïéõÅÛ ïõÛ¾ÛþùÛÁõÛé¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà 
¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 10 

ïõÛ¾ÛþùÛÁõÛé ïõÅÛÛïõÛé ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà þùÁõ `̀̀̀ 

ïäõÉÛÇ 5 6 

Ü¼Û¶ÛïäõÉÛÇ 8 2 

…µÛÙïäõÉÛÇ 4 3 

  ”ÛÁéõ”ÛÁõ ïõÛ¾Û•ÛàÁõà : ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 200 …éïõ¾ÛÛé 
ïõÛ¾ÛþùÛÁõÛé ïõÅÛÛïõÛé ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà þùÁõ `̀̀̀ 

ïäõÉÛÇ 900 8 

Ü¼Û¶ÛïäõÉÛÇ 2000 1 – 80  

…µÛÙïäõÉÛÇ 840 3 

 3740  

  ¶Ûà˜Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé •Û¨ÛÛé : 
  (1) ¾Û›æ÷Áõà ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
  (2) ¾Û›æ÷Áõà þùÁõ ÜÈÛ˜ÛÅÛ¶Û 
  (3) ¾Û›æ÷Á ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
  (4) ïõÛ¾ÛþùÛÁõ Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 
  The details of workers engaged in the production of one unit of item ‘P’ in a 

factory. 

Workers Hours Labour Rate per Hour 

 `̀̀̀ 

Skilled 5 6 

Unskilled  8 2 

Semi-skilled 4 3 

  Actual work : Actual production 200 units. 

Workers Hours Labour Rate per Hour 

 `̀̀̀ 

Skilled 900 8 

Unskilled  2000 1 – 80  

Semi-skilled 840 3 

 3740  

  Calculate the following variances : 

  (1) Labour Cost Variance  

  (2) Labour Rate Variance  

  (3) Labour Efficiency Variance  

  (4) Labour Mix Variance  
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 (B) “¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û”¶ÛÛ ºõÛýÛþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  4 

  Show benefits of “Standard Cost Method”. 
 

2. ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ÈÛé̃ ÛÛ¨Û¶Ûé ÅÛ•Û©ÛÛ× ¶Ûà˜Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé ÉÛÛéµÛÛé : 14 

 (1) ÈÛé̃ ÛÛ¨Û ¾ÛæÅýÛ ÜÈÛ˜ÛÅÛ¶Û 
 (2) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ÜÈÛ˜ÛÅÛ¶Û 
 (3) ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
 (4) ÈÛé̃ ÛÛ¨Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 
 (5) ÈÛé̃ ÛÛ¨Û ¸Ûé¤øÛ ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

¸Ûó¾ÛÛ¨Û ”ÛÁéõ”ÛÁõ 
ÈÛÍ©Ûä ›÷¬¬ÛÛé          

…éïõ¾ÛÛé 
ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û 
…éïõ¾Û þùà¥ø `̀̀̀ 

›÷¬¬ÛÛé          
…éïõ¾ÛÛé 

ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û 
…éïõ¾Û þùà¥ø `̀̀̀ 

¸Ûà 100 30   80 30 

îýÛä 200 16 120 18 

…ÛÁõ 500 4 200 3-60 

 800  400  

 Find out the sales variances from the information given below : 
 (1) Sales Value Variances 
 (2) Sales Price Variance  
 (3) Sales Volume Variance  
 (4) Sales Mix Variance  
 (5) Sales Sub-volume Variance  

Standard Actual 

Item Quantity  

Units 

Sales Value 

per Unit  `̀̀̀ 

Quantity 

Units 

Sales Value 

per Unit `̀̀̀ 

P 100 30 80 30 

Q 200 16 120 18 

R 500 4 200 3-60 

 800  400  

…¬ÛÈÛÛ/OR 

2. ¸ÛÁõ¾ÛÛ¶Û×þù ÜÅÛ. ¶Ûà ›Û¶ýÛä.-2014¶Ûà ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

ÜÈÛ•Û©Û ¸Ûó¾ÛÛ¨Û ”ÛÁéõ”ÛÁõ 
ïõÛ¾ÛïõÛ›÷¶ÛÛ ÜþùÈÛÍÛÛé 25 26 

ïõÅÛÛïõÛé 10,000 11,250 

Š©¸ÛÛþù¶Û …éïõ¾ÛÛé¾ÛÛ× 10,000 11,000 

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 50,000 ` 60,000 

ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 40,000 ` 45,000 

 ¶Ûà˜Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé ÉÛÛéµÛÛé : 
 (1) ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
 (2) ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ þùÁõ ÜÈÛ˜ÛÅÛ¶Û 
 (3) ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
 (4) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
 (5) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ¼Û›÷é¤ø ÜÈÛ˜ÛÅÛ¶Û 
 (6) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
 (7) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
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 The details of overhead cost for Jan. 2014 of The Parmanand Ltd., are as follows :  

Particulars Standard Actual 

Working days 25 26 

Hours 10,000 11,250 

Production Units 10,000 11,000 

Variable overheads  ` 50,000 ` 60,000 

Fixed overheads  ` 40,000 ` 45,000 

 Find out the following variances : 

 (1) Variable Overhead Variance 

 (2) Variable Overhead Rate Variance 

 (3) Variable Overhead Efficiency Variance 

 (4) Fixed Overhead Variance 

 (5) Fixed Overhead Budget Variance 

 (6) Fixed Overhead Volume Variance  

 (7) Fixed Overhead Efficiency Variance  

 

3. (A) ÈÛ©ÛÙ¾ÛÛ¶Û ` 5,000 ¶Ûé ÈÛÛÜÌÛÙïõ 5%¶ÛÛ ÈýÛÛ›÷ þùÁéõ ÁõÛéïõÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé 15 ÈÛÌÛÙ¶ÛÛ …×©Ûé ïéõ¤øÅÛà Áõïõ¾Û 
¬ÛÛýÛ ?  4 

  If ` 5,000 is invested at the rate of 5% p.a. now, what would be the total of 

principal and interest amount after 15 years ? 

 (B) ïõÛé̂  …éïõ Áõïõ¾Û ¼Ûé ÈÛÌÛÙ¶ÛÛ …×©Ûé ÈÛÛÜÌÛÙïõ ˜Û’õÈÛèÜ±ù¶ÛÛ ïõýÛÛ ÈýÛÛ›÷ þùÁé ÁõÛéïõ©ÛÛ× 1.5625 •Û¨Ûà ¬ÛÛýÛ ? 4 

  At what rate of compound interest after 2 years would the total amount be 1.5625 

times ? 

 (C) ¶ÛÛ¨ÛÛ¶ÛÛ ÍÛ¾ÛýÛ ¾ÛæÅýÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. ˜Û’õÈÛèÜ±ù ÈýÛÛ›÷ …¶Ûé ÈÛ¤øÛÈÛ¶Ûà ¸Û±ùÜ©Û ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  6 

  Explain the “Time Value of Money”. Explain in short the compound interest and 

the discount method.  

…¬ÛÈÛÛ/OR 

3. (A) …éïõ ÈýÛÜî©Û ¸ÛÛé©ÛÛ¶Ûà ` 3,000¶Ûà Áõïõ¾Û 4 ÈÛÌÛÙ ¾ÛÛ¤éø ¼Ûé ÜÈÛïõÅ¸Û Ðéü¥øÇ ÁõÛéïõÈÛÛ ¾ÛÛ•Ûé ™öé.  4 

  ÜÈÛïõÅ¸Û-1   : 12% ¶ÛÛ ÈÛÛÜÌÛÙïõ þùÁéõ ÜªÛ¾ÛÛÜÍÛïõ ˜Û’õÈÛèÜ±ù ¬ÛÛýÛ. 
  ÜÈÛïõÅ¸Û-2   : 13% ¶ÛÛ ÈÛÛÜÌÛÙïõ þùÁéõ ÈÛÌÛÙ …×©Ûé ˜Û’õÈÛèÜ±ù ¬ÛÛýÛ. 
  ©ÛÛé ©Ûé¶ÛÛ ¾ÛÛ¤éø ÁõÛéïõÛ¨Û¶ÛÛé ïõýÛÛé ÜÈÛïõÅ¸Û ÅÛÛ½ÛþùÛýÛà •Û¨ÛÛýÛ ? 
  ˜Û’õÈÛèÜ±ù ÈýÛÛ›÷¶ÛÛ A-1 ïõÛé¥øÛ ¾Ûä›÷¼Û : 
  3% ¶ÛÛ þùÁéõ 16 ÈÛÌÛÙ¶ÛÛ …×©Ûé ` 1 ¶Ûä× ¸ÛÜÁõ¼ÛÇ ¾ÛæÅýÛ 1.605 ™öé.  

  13% ¶ÛÛ þùÁéõ 4 ÈÛÌÛÙ¶ÛÛ …×©Ûé ` 1 ¶Ûä× ¸ÛÜÁõ¼ÛÇ ¾ÛæÅýÛ 1.630 ¬ÛÛýÛ ™öé.  
  A person wants to invest ` 3,000 for 4 years under two options : 

   Option-1 : Quarterly compound interest @ 12% annual rate.  

   Option-2 : Annually compound interest @ 13% p.a. 

  Which of the two options would be more beneficial ? 

  Under A-1 table of compound interest : 

  The factor value of ` 1 at the end of 16 years @ 3% p.a. is 1.605. 

  The factor value of ` 1 at the end of 4 years @ 13% p.a. is 1.630. 

 (B) …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ þùÁõ ¸Û±ùÜ©Û …¶Ûé ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ þùÁõ ¸Û±ùÜ©Û¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé. 6  
  Elucidate the concepts of internal rebate rate method and Average rate of return 

method. 

 (C) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ ¸Û±ùÜ©Û 4 

  Write a short note on “Pay back period” method. 
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4. ÍÛÛ×̂ ¶ÛÛ¬Û ÜÅÛ. …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ•Ûé ™öé. ` 2,00,000 ¶Ûà Ýïõ¾Û©Û¶ÛÛ …éïõ …éÈÛÛ× ¼Ûé ýÛ×ªÛÛé A …¶Ûé B 
¸ÛóÛ¸ýÛ ™öé. þùÁéõïõ ýÛ×ªÛ¶Ûä× …×þùÛœ÷©Û …ÛýÛäÌýÛ 5 ÈÛÌÛÙ¶Ûä× ™öé. ½Û×•ÛÛÁõ Ýïõ¾Û©Û ¶Û¬Ûà. ï×õ¸Û¶Ûà¶ÛÛé Ü¶ÛýÛ©Û ÈÛÇ©ÛÁõ¶ÛÛé 
þùÁõ 12% ™öé. ï×õ¸Û¶Ûà¶Ûé ÅÛÛ•Ûä ¸Û¦ø©ÛÛé ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé. ¼Û×¶Ûé ýÛ×ªÛÛé¶Ûà –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ 
¸ÛÐéüÅÛÛ×¶Ûà …×þùÛœ÷ ïõ¾ÛÛ¨Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

ÈÛÌÛÙ 
ýÛ×ªÛ A 
`̀̀̀ 

ýÛ×ªÛ B 
`̀̀̀ 

1 70,000 1,10,000 

2 80,000 1,30,000 

3 1,30,000 80,000 

4 1,00,000 60,000 

5 60,000 70,000 

 ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛà Áõà©ÛÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÍÛÛíé¬Ûà ¶ÛºõÛïõÛÁõïõ ýÛ×ªÛ¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé : 
 (1) ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ 
 (2) ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ þùÁõ  

 (3) ˜ÛÛé””Ûä ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ  
 ÈÛÛÜÌÛÙïõ 12% ¶ÛÛ þùÁé ` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¸Ûó¬Û¾Û 5 ÈÛÌÛÙ ¾ÛÛ¤éø …¶Ûä’õ¾Ûé  
 0.893, 0.797, 0.712, 0.636 …¶Ûé 0.567 ™öé.    
 Sainath Ltd. wish to purchase a machine unit. Two machine units A and B of ` 2,00,000 

each are available. Each machines estimated life is 5 years. No scrap value. Fixed rate of 

return is 12% p.a. The applicable tax rate is 50%. The estimated earning before 

depreciation and taxation of both the machines is as under : 

Year 
Machine A 

`̀̀̀ 

Machine B 
`̀̀̀ 

1 70,000 1,10,000 

2 80,000 1,30,000 

3 1,30,000 80,000 

4 1,00,000 60,000 

5 60,000 70,000 

 Using the following methods, choose the most beneficial machine unit : 

 (1) Pay back period 

 (2) Average rate of Return 

 (3) Net present value 

 The present value of ` 1 for 5 years @ 12% p.a. is : 

 0.893, 0.797, 0.712, 0.636 and 0.567. 
…¬ÛÈÛÛ/OR 

4. …éïõ ï×õ¸Û¶Ûà ` 2,00,000 ¶Ûà …éïõ ¾Ûæ¦øà ÁõÛéïõÛ¨Û¶Ûà ýÛÛé›÷¶ÛÛ¾ÛÛ× ÁõÛéïõÛ¨Û ïõÁõÈÛÛ¶Ûä× ÜÈÛ˜ÛÛÁéõ ™öé. ©Ûé ýÛÛé›÷¶ÛÛ¾ÛÛ× 
©Ûé¶ÛÛ …ÛýÛäÌýÛ þùÁõÜ¾ÛýÛÛ¶Û Í¤øÛéïõ …¶Ûé ÅÛé̈ ÛÛ¾ÛÛ× ` 1,00,000¶Ûä× ÈÛµÛÛÁõÛ¶Ûä× ÁõÛéïõÛ¨Û ïõÁõÈÛä× ¸Û¦éø …éÈÛà •Û¨Û©ÛÁõà 
™öé. …Û ýÛÛé›÷¶ÛÛ¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾Ûé þùÁõ ÈÛÌÛë ` 2,00,000¶Ûä× ÈÛé̃ ÛÛ¨Û ÈÛµÛÉÛé …¶Ûé ©Ûé …×•Ûé ©Ûé¶ÛÛ 5 ÈÛÌÛÙ¶ÛÛ 
…ÛýÛäÌýÛ þùÁõÜ¾ÛýÛÛ¶Û ÈÛÛÜÌÛÙïõ ` 60,000¶ÛÛé ”Û˜ÛÙ ¬ÛÉÛé. ï×õ¸Û¶Ûà ÍÛàµÛà ÅÛà¤øà ¸Û±ùÜ©Û…é –ÛÍÛÛÁõÛé •Û¨Ûé ™öé. 
ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé …¶Ûé ïõÁõÈÛéÁõÛ ¼ÛÛþù ¾Ûæ¦øà ”Û˜ÛÙ¶ÛÛé þùÁõ 10% ™öé.  14 
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  …Û ýÛÛé›÷¶ÛÛ¶Ûä× ˜ÛÛé””Ûä ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ïéõ¤øÅÛä× ÐüÉÛé ? 20% ÈÛ¤øÛÈÛ …ÈÛýÛÈÛ …¶Ûé 22% ÈÛ¤øÛÈÛ 
…ÈÛýÛÈÛ¶Ûà ¾Ûþùþù¬Ûà …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ïéõ¤øÅÛÛé ÐüÉÛé ? 

ÈÛÌÛÙ 1 2 3 4 5 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 10% ÅÛé”Ûé 0.909 0.827 0.751 0.683 0.621 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 20% ÅÛé”Ûé 0.8333 0.6944 0.5787 0.4823 0.4019 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 22% ÅÛé”Ûé 0.8197 0.6719 0.5507 0.4514 0.3700 

 A company wants to invest ` 2,00,000 in an investment scheme. The company calculate 

that an additional investment of ` 1,00,000 will have to be made on stock and 

receivables during the life of the scheme. The annual increases in sales will be of             

` 2,00,000 from this scheme. An additional annual expense of ` 60,000 will be incurred 

for the five year period of the scheme. Tax rate is 50%. The company follows straight 

line method for depreciation. Capital cost is 10% after tax. 

 What will be the net present value of the scheme ? What will be the internal Rate of 

Return calculated by discount factor @ 20% and 22% ? 

Year 1 2 3 4 5 

Present value @ 10% 0.909 0.827 0.751 0.683 0.621 

Present Value @ 20% 0.8333 0.6944 0.5787 0.4823 0.4019 

Present Value @ 22% 0.8197 0.6719 0.5507 0.4514 0.3700 

 
5. ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ þùÁéõïõ ¸Ûé¤øÛ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛÛ ™öé. ©Ûé ¸Ûíéïõà¶ÛÛé ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ÉÛÛéµÛÛé 

…¶Ûé ©Ûé¶ÛÛ ÍÛ¾Û¬ÛÙ¶Û¾ÛÛ× ›÷ÄõÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé : 14 

 The sub-questions below are provided with more than one answers. Find out true answer 

and also show your necessary calculations : 

 (1) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¾ÛÛ× ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé …¶Ûé ©Ûé¶ÛÛ ›Û¶ýÛä. 2014¶ÛÛ 
Š©¸ÛÛþù¶Û¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ¸Ûó¾ÛÛ¨Û : 8 ÜïõÅÛÛé ¾ÛÛÅÛ¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ›÷ÄõÁõà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 10 ÜïõÅÛÛé 
     ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ¸Ûó¾ÛÛ¨Û Ýïõ¾Û©Û ÜïõÅÛÛéþùà¥ø ` 2 
     ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 2,400 ÜïõÅÛÛé 
     ÈÛ¸ÛÁõÛýÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 2,900 ÜïõÅÛÛé 
     ÈÛ¸ÛÁõÛýÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà Ýïõ¾Û©Û ` 8,700 
   ©ÛÛé ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û …¶Ûé ½ÛÛÈÛ ÜÈÛ˜ÛÅÛ¶Û …¶Ûä’õ¾Ûé _______ ÐüÉÛé. 
  (a) + 200 …¶Ûé – 2,900 (b) + 200 …¶Ûé + 2,900 

  (c) – 2,900 …¶Ûé + 200 (d) + 2,900 …¶Ûé – 200 
  A factory uses standard cost method. Production information of Jan. 2014 is as 

follows : 

  Standard : 10 kg material necessary for 8 kg production 

     Standard value of material is ` 2.00 per kg. 

     Actual production 2,400 kgs. 

     Material utilized 2,900 kgs. 

     Cost of material utilized ` 8,700 

  Hence the material usage variance and material price variance will be 

respectively ________. 

  (a) + 200 and – 2,900 (b) + 200 and + 2,900 

  (c) – 2,900 and + 200 (d) + 2,900 and – 200  
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 (2) …éïõ ï×õ¸Û¶Ûà¶ÛÛ ºéõ¼Ûóä…ÛÁõà-2014¶ÛÛ Š©¸ÛÛþù¶Û¶Ûà ¾Û›æ÷Áõà ”Û˜ÛÙ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
    ¸Ûó©ýÛ“Û ˜ÛæïõÈÛéÅÛ ¾Û›æ÷Áõà  ` 16,400 

    ¸Ûó¾ÛÛ¨Û ïõÅÛÛïõÛé  4,320 

    ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà¶ÛÛé ¸Ûó¾ÛÛ¨Û þùÁõ   ` 3 

    ”ÛÁéõ”ÛÁõ ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé 4,100 
  ©ÛÛé ¾Û›æ÷Áõà þùÁõ ÜÈÛ˜ÛÅÛ¶Û …¶Ûé ¾Û›æ÷Áõà ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û …¶Ûä’õ¾Ûé _______ ÐüÉÛé. 
  (a) – 4,100 …¶Ûé + 3,440 (b) – 4,100 …¶Ûé – 3,440 

  (c) + 3,440 …¶Ûé – 4,100 (d) + 3,440 …¶Ûé + 4,100 
  A company’s Feb.2014 production labour cost is as under : 

    Direct labour paid  ` 16,400 

    Standard hours 4,320 

    Standard rate of labour per hour  ` 3 

    Actual work hours 4,100 

  Hence the Labour Rate Variance and Labour Cost Variance will be respectively 

_______. 

  (a) – 4,100 and + 3,440 (b) – 4,100 and – 3,440 

  (c) + 3,440 and – 4,100 (d) + 3,440 and + 4,100 

 (3) …éïõ ï×õ¸Û¶Ûà¶ÛÛ ¾ÛÛ˜ÛÙ-2014¶ÛÛ Š©¸ÛÛþù¶Û¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
    ¼Û›÷é¤ø ¾Ûä›÷¼Û ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ    ` 10,000 
    ¼Û›÷é¤ø ¾Ûä›÷¼Û Š©¸ÛÛþù¶Û …éïõ¾ÛÛé   5,000 
    ¾ÛÜÐü¶ÛÛ þùÁõÜ¾ÛýÛÛ¶Û ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û …éïõ¾ÛÛé 5,250 
  ¾ÛÜÐü¶ÛÛ þùÁõÜ¾ÛýÛÛ¶Û ¬ÛýÛéÅÛ ”ÛÁéõ”ÛÁõ ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 10,400, ©ÛÛé ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û …¶Ûé 

¼Û›÷é¤ø ÜÈÛ˜ÛÅÛ¶Û …¶Ûä’õ¾Ûé ________ ÐüÉÛé. 
  (a) + 500 …¶Ûé + 400 (b) – 400 …¶Ûé + 500 

  (c) + 500 …¶Ûé – 400 (d) + 400 …¶Ûé – 500 
  A company’s March-2014 production details are as under : 

    Fixed overhead cost as per budget ` 10,000 

    Production units as per budget 5,000 

    Actual production units during the month 5,250 

    Actual fixed overhead cost during the month ` 10,400 

  Hence the Fixed Overhead Volume Variance and Overhead Budget Variance 

will be respectively ________. 

  (a) + 500 and + 400 (b) – 400 and + 500 

  (c) + 500 and – 400 (d) + 400 and – 500 

 (4) ›Ûé ÈÛÛÜÌÛÙïõ ÈýÛÛ›÷ þùÁõ 15% ÐüÛéýÛ ©ÛÛé ªÛà›Û …¶Ûé ¸ÛÛ×̃ Û¾ÛÛ ÈÛÌÛÙ¶ÛÛ …×©Ûé ¾ÛÇ©ÛÛ ` 2,000¶Ûä× 
ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ÉÛä× ÐüÉÛé ? 

  (a) 2,405 (b) 2,507 

  (c) 2,314 (d) 2,309 

  If the annual interest rate is 15%, what will be the present value of ` 2,000 

received at the end of the 3rd and the 5
th

 years ? 

  (a) 2,405 (b) 2,507 

  (c) 2,314 (d) 2,309 
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 (5) …éïõ ï×õ¸Û¶Ûà …éïõ ýÛÛé›÷¶ÛÛ¾ÛÛ× ` 9,60,000 ÁõÛéïõÈÛÛ ¾ÛÛ•Ûé ™öé. ©Ûé ýÛÛé›÷¶ÛÛ¶Ûä× Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ 5 
ÈÛÌÛÙ ™öé. ©Ûé¶Ûà ïõÛé̂  ½Û×•ÛÛÁõ Ýïõ¾Û©Û ¶Û¬Ûà. ïõÁõÈÛéÁõÛ þùÁõ 50% ™öé. –ÛÍÛÛÁõÛé ÍÛàµÛà ÅÛà¤øà¶Ûà ¸Û±ùÜ©Û¬Ûà 
•Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ×¶ÛÛé ÈÛÛÜÌÛÙïõ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ` 1,92,000, ` 2,40,000, ` 2,32,000, ` 3,52,000, ` 4,24,000 

  ÍÛÁéõÁõÛÉÛ ÁõÛéïõÛ¨Û ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ïéõ¤øÅÛÛé ÐüÉÛé ? 
  (a) 10% (b) 12% 

  (c) 14% (d) 15% 

  A company wants to invest ` 9,60,000 in a project. The useful life of the scheme 

is 5 years. No scrap value. tax rate is 50%. Straight line method of depreciation 

is applied. The annual cash flow before depreciation and tax is as follows : 

  ` 1,92,000, ` 2,40,000, ` 2,32,000, ` 3,52,000, ` 4,24,000 

  Calculate the rate of Average Return on investment  

  (a) 10% (b) 12% 

  (c) 14% (d) 15% 

________ 


